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1. ��-�/ %�$��&�$�%&��� �$��$���/  
�$������%&������ (�$�����������) �$��&���   

 

1.1. �5?4EFL ?D<<5=5=<O ?D>7D4<<O 

$45>G4O ?D>7D4<<4 ?D><76>4EF65==>= (?D544<??><=>=) ?D4>F<><   

(44?55 3 D45>G4O ?D>7D4<<4)  O6?O5FEO G4EFLN >5D47>64F5?L=>= ?D>7D4<<O 6 
E>>F65FEF6<< E $��% ?> E?5F<4?L=>EF< %�� 21.02.02 �GD5=<5 =5DFO=OE < 
747>6OE E>646<= 6 G4EF< >E6>5=<O >64?<D<>4F<< F5E=<> - F5E=>?>7 < 
>E=>6=OE 6<4>6 45OF5?L=>EF< (��): 
          �� 1  �D>6545=<5 D45>F ?> M>E??G4F4F<>==><G < D47654>G=><G 
5GD5=<N. 

�� 2  �D>6545=<5 D45>F ?> >4?<F4?L=><G D5<>=FG =5DFO=OE < 747>6OE 
E>646<=. 

�� 3 �5E?G6<64=<5 < M>E??G4F4F<O >5>DG4>64=<O 5GD>6OE GEF4=>6>> 
=4 =5DFL < 747. 

�� 4 �D74=<74F<O D45>F ?> 5GD5=<N, >4?<F4?L=><G D5<>=FG =5DFO=OE 
< 747>6OE E>646<=. 

  

 1.2. &5?< < 7444G< ?D4>F<>< 3 FD55>64=<O > D57G?LF4F4< ?D>6545=<O 
?D4>F<>< 

 &5?LN ?D><76>4EF65==>= (?D544<??><=>=) ?D4>F<>< O6?O5FEO 
G7?G5?5=<5 ?5D6>=4G4?L=>7> ?D4>F<G5E>>7> >?OF4 >5GG4NM<EEO, D476<F<5 
>5M<E < ?D>D5EE<>=4?L=OE >><?5F5=F<=, ?D>65D>4 57> 7>F>6=>EF< > 
E4<>EF>OF5?L=>= FDG4>6>= 45OF5?L=>EF<,  ?>47>F>6>4 > 6O?>?=5=<N 
6O?GE>=>= >64?<D<>4F<>==>= D45>FO  6 >D74=<74F<OE D47?<G=OE 
>D74=<74F<>==>-?D46>6OE D>D<, =4?D46?5=<5 45OF5?L=>EF< >>F>DOE 
E>>F65FEF6G5F  ?D>D<?N ?>47>F>6>< >5GG4NM<EEO. 

�444G4<< ?D><76>4EF65==>= (?D544<??><=>=)  ?D4>F<><   O6?ONFEO: 
- >6?445=<5 EFG45=F4<< ?D>D5EE<>=4?L=>= 45OF5?L=>EFLN,  
- D476<F<5 ?D>D5EE<>=4?L=>7> <OL?5=<O; 
- 74>D5??5=<5, G7?G5?5=<5, D4EL<D5=<5 < E<EF5<4F<74F<O 7=4=<=,  
- 74>D5??5=<5 ?D4>F<G5E><E =46O>>6 < G<5=<=, ?>?GG5==OE ?D< <7GG5=<< 
4<EF<??<= < ?D>D5EE<>=4?L=OE <>4G?5=, >?D545?ONM<E E?5F<D<>G 
E?5F<4?L=>EF<; 
- >5GG5=<5 =46O>4< D5L5=<O ?D4>F<G5E><E 7444G ?D< ?>47>F>6>5 6O?GE>=>= 
>64?<D<>4F<>==>= D45>FO; 
- E5>D <4F5D<4?>6 > 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<<. 
  � D57G?LF4F5 ?D>E>645=<O ?D><76>4EF65==>= (?D544<??><=>=)  

?D4>F<>< >5GG4NM<5EO G7?G5?ONF ?>?GG5==O5 6 E>45 GG55=OE < 
?D><76>4EF65==OE ?D4>F<> =46O>< < G<5=<O: 

 
�� 1  �D>6545=<5 D45>F ?> M>E??G4F4F<>==><G < D47654>G=><G 5GD5=<N 

�<5FL 
?D4>F<G5E><= 
>?OF  

 -GG4EF<O 6 ?>47>F>6<F5?L=OE < >>>=G4F5?L=OE D45>F4E 6 ?D>F5EE5 
5GD5=<O =5DFO=OE < 747>6OE E>646<=; 
-G>?44>< < E>DF<D>6>< 5GD<?L=>7> <=EFDG<5=F4; 
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 6O?>?=5=<O (?>4 DG>>6>4EF6>< 5GD<?LM<>4 M>E??G4F4F<>==>7> < 
D47654>G=>7> 5GD5=<O E>646<= =4 =5DFL < 747) D5L5=<= ?D>F>>>?4 
?GE>>6>= >><<EE<<; 
->>=E5D64F<< 5GD>6OE =4E>E>6 < >5>DG4>64=<O E<EF5<O >G<EF><; 
-6O?>?=5=<O D45>F ?> >5>DG4>64=<N GEFLO E>646<=O; 
- ?D<5<4 < E44G< 64EFO 6 >5N5<5 4>?6=>EF=>= <=EFDG>F<<, ?D>65D>< 
<E?D46=>EF< ED54EF6 <=4<6<4G4?L=>= 74M<FO < ?D<5>D>6 >>=FD>?O < 
4=4?<74 6>74GL=>= ED54O; 
-  ?D54>F6D4M5=<O < ?<>6<44F<< >E?>6=5=<= < 464D<==OE E<FG4F<=; 
- >>=FD>?O ?4D4<5FD>6 5GD>6OE < F4<?>=46=OE D4EF6>D>6; 
-74?>?=5=<O >E=>6=OE < 4>?>?=<F5?L=OE 5<>>EF5= 6>4>= < 5GD>6O< 
D4EF6>D><, =45?N45=<O 74 <7<5=5=<5< GD>6=O D4EF6>D4, >>=FD>?O 74 
4>?<6>< E>646<=; 
- 6O?>?=5=<O >>=FD>?O ?D>F5EE4 ?D><O6>< E>646<=O =4 6E5E MF4?4E 
EFD><F5?LEF64 E>646<=O; 
- 6O?>?=5=<O D45>F ?> >D5??5=<N E>646<=; 
-6O?>?=5=<O D45>F ?> E6<=G<64=<N < D476<=G<64=<N D57L5>6OE 
E>54<=5=<= 5GD<?L=OE < >5E44=OE FDG5 ?=56<4F<G5E><<< < 
7<4D46?<G5E><<< >?NG4<<; 
- 6O?>?=5=<O 7DG7>74E64F=OE D45>F M?564F>D4<<. 
- =46>D>F4 E?5FD47N54<=<F5?O < ?>47>=>G=>7> ?4FDG5>4; 
- GG4EF<O 6 ?D>F5EE5 E5>D><, D475>D>< 46F>=><=>7> >><??5>E4 4?O 
75>D<7<G5E><E <EE?54>64=<= E>646<= =4 5GD<?L=>< <=EFDG<5=F5 < 
6545=<O E?GE>>-?>4N5<=OE >?5D4F<= ?>4 DG>>6>4EF6>< 5GD<?LM<>4 
M>E??G4F4F<>==>7> < D47654>G=>7> 5GD5=<O E>646<= =4 =5DFL < 747; 
-c5>D>< < D475>D>< <E?OF4F5?O ??4EF>6 =4 5GD<?L=OE FDG54E ?>4 
DG>>6>4EF6>< 5GD<?LM<>4 M>E??G4F4F<>==>7> < D47654>G=>7> 5GD5=<O 
E>646<= =4 =5DFL < 747; 
- D45>FO E ?D>7D4<<>= G?D46?5=<O FD45>F>D<5= EF6>?4 E>646<=O; 
- E>EF46?5=<O ??4=4 D45>F ?> E>?D>6>645=<N E>646<=. 

'<5=<O -<>=F<D>64FL >7D4=<G<F5?< 6OE>FO ?>4N5<4 F4?56>7> 5?>>4 < 
4>?GE>45<>= =47DG7>< =4 >DN>5, 5?>><DGNM<5 GEFD>=EF64, ED54EF64 
46F><4F<74F<< < <5E4=<74F<<, EE5<O >56O7>< F<D>G?OF<>==OE E<EF5< < 
?<=<= 6OE>>>7> 446?5=<O; 
- >EGM5EF6?OFL E>DF<D>6>G 5GD<?L=OE FDG5 ?> F<?>D47<5DG < 7DG??4< 
?D>G=>EF<, G>?44O64FL =4 EF5??46<, E5>D GEF4=>6>< E65G5= 5GD<?L=OE 
FDG5 =4 ?>4E65G=<> 6 ?>DO4>5 <E <E?>?L7>64=<O; 
-GEFD4=OFL =5<E?D46=>EF<, 6OO6?5==O5 ?GE>>6>= ?D<5<=>= >><<EE<5=, 
6O?>?=OFL ?D54?<E4=<O ?GE>>6>= ?D<5<=>= >><<EE<<. 
->EGM5EF6?OFL ?>47>F>6>G > 4?<F5?L=><G ED4=5=<N ?<=<= >56O7>< < 
>G<EF=OE E>>DG65=<= F<D>G?OF<>==>= E<EF5<O. 
-6O?>?=OFL EFD><F5?LEF6> L4EFO, >5>DG4>64FL 55 L?4<>6O<< =4E>E4<<; 
- >EGM5EF6?OFL ?D>65D>G <E?D46=>EF< <E?>?L7G5<>7> >5>DG4>64=<O < 
<4F5D<4?>6, ?D>65DOFL ED54EF64 <=4<6<4G4?L=>= 74M<FO < ?D<5>DO 
>>=FD>?O 6>74GL=>= ED54O; 
->EGM5EF6?OFL D57G?<D>64=<5 < >>=FD>?L GD>6=O 5GD>6>7> D4EF6>D4 6 
>E=>6=OE < 4>?>?=<F5?L=OE 5<>>EFOE 6 ?D>F5EE5 5GD5=<O < E?GE>>-

?>4N5<=OE >?5D4F<OE ?D< 4>?<65 E>646<=O ?> ?>>474=<O< >>=FD>?L=>-

<7<5D<F5?L=OE ?D<5>D>6; 
- >?D545?OFL EF4F<G5E><= GD>65=L 6 E>646<=5, <>=F<D>64FL 
(45<>=F<D>64FL) E<EF5<G 4>?<64 < 4>?<64FL E>646<=G ?D><O6>G=>= 
6<4>>EFLN >?D545?OFL E6>=EF64 5GD>6OE D4EF6>D>6,  
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-74?GE>4FL < >EF4=46?<64FL 5GD>6O5 =4E>EO, E>5?N44FL ?D46<?4 >ED4=O 
FDG44 ?D< D45>F5 E E<<D5475=F4<<, >?D545?OFL E6>=EF64 F4<?>=46=OE 
D4EF6>D>6, GG4EF6>64FL 6 6545=<< F5E=>?>7<G5E>>7> ?D>F5EE4 >D5??5=<O 
E>646<=; 
- GG4EF6>64FL 6 <>=F465 < D4EEF4=>6>5 F5<5=F<DGNM57> >5>DG4>64=<O; 
- GG4EF6>64FL 6 ?D>65D>5 < ?D>6545=<< D56<7<< >5>DG4>64=<O < 
<=EFDG<5=F4,  
- ?D<7>F46?<64FL F4<?>=46=O5 E<5E< E ?D<<5=5=<5< E<<D5475=F>6; 
- ?>?L7>64FLEO 5GD>6O<< >?NG4<< ?D< E6<=G<64=<< (D476<=G<64=<<) 
5GD<?L=OE FDG5; 
-<5=OFL <4L<==O5 >?NG< < M?564F>DO, D4E>D5??OFL E>54<=5=<5 
65DF?N74 E 654GM5= FDG5>=, =46>4<FL ?>DO4>> =4 D45>G5< <5EF5 
-?>47>F46?<64FL > D45>F5 < <E?>?L7>64FL M?564F>DO 4?O >5E44=OE FDG5; 
-=46>D4G<64FL < ?>45<D4FL 4?<=G ?>47>=>G=>7> ?4FDG5>4, >5>DG4>64FL 
<GDFG >5E44=>= >>?>==O E?5FD47N54<=<F5?5< ?D< E?GE>5 ?>F4==OE 
>>?>== < E6>EF>6<>>6; 
- FD4=E?>DF<D>64FL >><??5>E 4?O 75>D<7<G5E><E <EE?54>64=<= E>646<= 
=4 5GD<?L=>< <=EFDG<5=F5 =4 D>F>D=GN ??>M44>G < >5D4F=>, E>54<=OFL 
57>  
E 5GD<?L=O<< FDG54<< (>FE>54<=OFL >F 5GD<?L=OE FDG5); 
- >F6>D4G<64FL 5GD<?L=O5 FDG5O >F <E?OF4F5?O ??4EF>6 =4 5GD<?L=OE 
FDG54E, >EGM5EF6?OFL 57> E5>D>G < D475>D>G;  
-4=4?<7<D>64FL ?D>5>F=O5 44==O5 ?> E>646<=5; 
-?>?L7>64FLEO ?D>7D4<<>= G?D46?5=<O FD45>F>D<5= EF6>?4 E>646<=O; 
-<E?>?L7>64FL ?D>7D4<<=>5 >55E?5G5=<5 ?> E>?D>6>645=<N 5GD5=<O 
E>646<=; 
-?>45<D4FL =5>5E>4<<>5 >5>DG4>64=<5 4?O E>?D>6>645=<O 5GD5=<O 
E>646<=; 
->EGM5EF6?OFL E5>D>G < <>=F46 6 ���� >5>DG4>64=<O 4?O >>=FD>?O 
FD45>F>D<< E>646<=. 

�� 2   �D>6545=<5 D45>F ?> >4?<F4?L=><G D5<>=FG =5DFO=OE < 747>6OE 
E>646<=. 
�<5FL 
?D4>F<G5E><= 
>?OF  

- GG4EF<O 6 ?>47>F>6>5 < >>>=G4=<< ?D>F5EE>6 >4?<F4?L=>7> D5<>=F4 < 
7?GL5=<O E>646<= 

-?D>65D><, 6<7G4?L=>7> >E<>FD4 F5E=<G5E>>7> E>EF>O=<O, >><??5>F=>EF< 
< <E?D46=>EF< >5>DG4>64=<O, <=EFDG<5=F4, F5E=<G5E><E GEFD>=EF6, %�� 
4?O ?D>6545=<O <>=F464, 45<>=F464 ?D>F<6>6O5D>E>6>7> >5>DG4>64=<O 
E>646<=; 
->?D545?5=<O <75OF>G=>7> 446?5=<O =4 GEFL5 E>646<= ?5D54 <>=F46>< 
?D>F<6>6O5D>E>6>7> >5>DG4>64=<O 

-?D>6545=<O 4>?<64 ?D><O6>G=>= 6<4>>EF< 4> GEFLO E>646<=; 
-6O?>?=5=<O D45>F ?> 45<>=F46G, <>=F46G =47=5F4F5?L=OE ?<=<= 
?D>F<6>6O5D>E>6>7> >5>DG4>64=<O 

-?D>6545=<O 7<4D46?<G5E>>7> <E?OF4=<O ?D>F<6>6O5D>E>6>7> 
>5>DG4>64=<O E>646<= ?>E?5 ?D>6545=<O 57> <>=F464; 
-?D>65D>< 75D<5F<G=>EF< D?4=F56OE E>54<=5=<= ?D>F<6>6O5D>E>6>7> 
>5>DG4>64=<O E>646<= ?D< ?D>6545=<< <>=F464, 45<>=F464; 
->D>D<?5=<O 4>F4 > 7<4D46?<G5E><E <E?OF4=<OE ?D>F<6>6O5D>E>6>7> 
>5>DG4>64=<O E>646<= 

-L45?>=<D>6>< < >F5D4>>6>< =4E>E=>->><?D5EE>D=OE FDG5 ?5D54 
?D>6545=<5< E?GE>>-?>4N5<=OE >?5D4F<= =4 E>646<=4E; 
-E6<=G<64=<O =4E>E=>->><?D5EE>D=OE FDG5 ?5D54 ?D>6545=<5< E?GE>>-
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?>4N5<=OE >?5D4F<= =4 E>646<=4E; 
-E<47>< D57L5>6OE E>54<=5=<= =4E>E=>->><?D5EE>D=OE FDG5 ?5D54 
?D>6545=<5< E?GE>>-?>4N5<=OE >?5D4F<= =4 E>646<=4E; 
-4>?<64 6<4>>EF< 6 E>646<=G 6 ?D>F5EE5 ?D>6545=<O E?GE>>-?>4N5<=OE 
>?5D4F<= =4 E>646<=4E; 
-E?GE>4 < ?>4N5<4 >>?>==O =4E>E=>->><?D5EE>D=OE FDG5 6 ?D>F5EE5 
E?GE>>-?>4N5<=OE >?5D4F<= =4 E>646<=4E; 
-74<5D4 F>?M<=O EF5=>< =4E>E=>->><?D5EE>D=OE FDG5 ?>E?5 ?D>6545=<O 
E?GE>>-?>4N5<=OE >?5D4F<= =4 E>646<=4E; 
-GG4EF<O 6 ?D>6545=<< ?>6<?L=OE D45>F =4 E>646<=4E ?>4 DG>>6>4EF6>< 
<4EF5D4 ?> E?>6=O< D45>F4<; 
->>=FD>?O ?4D4<5D>6 5GD>6>7> D4EF6>D4 6 ?D>F5EE5 ?>6<?L=OE D45>F; 
- <=D>D<<D>64=<O =5?>ED54EF65==>7> DG>>6>4<F5?O >5 464D<==>= 
E<FG4F<<, ?D><7>L54L5= ?D< ?D>6545=<< >4?<F4?L=>7> D5<>=F4 
E>646<=; 
-GG4EF<O 6 ?>47>F>6<F5?L=OE < 74>?NG<F5?L=OE D45>F4E ?> ?D>6545=<N 
D5<>=F>-<7>?OF<>==OE D45>F; 
-6O?>?=5=<O D5<>=F=>-<7>?OF<>==OE D45>F 6 E>646<=5; 
-D475GD<64=<O F5<5=F=OE < ?>?<<5D=OE <>EF>6 ?D< ?D>6545=<< 
D5<>=F=>-<7>?OF<>==OE D45>F 6 E>646<=4E. 

'<5=<O - >>47O64FL ?5D6GN ?><>ML ?D< =5EG4EF=OE E?GG4OE; 
- 6O?>?=OFL E5>D>G < GEF4=>6>G >5>DG4>64=<O 7?GL5=<O E>646<= 6 
E>>F65FEF6<< E FD55>64=<O<< >ED4=O FDG44, ?D><OL?5==>= < ?>64D=>= 
557>?4E=>EF< ?D< M>E??G4F4F<< ?D><76>4EF65==>7> >5N5>F4; 
-6OO6?OFL =5<E?D46=>EF< F5E=>?>7<G5E>>7> >5>DG4>64=<O, GEFD>=EF6 < 
?D<5>D>6 4?O >EGM5EF6?5=<O 7?GL5=<O E>646<=; 
->EGM5EF6?OFL >>=FD>?L F5E=>?>7<G5E>>7> ?D>F5EE4 7?GL5=<O E>646<= 

- 6OO6?OFL 45D5>FO >5>DG4>64=<O, <=EFDG<5=F4, F5E=<G5E><E GEFD>=EF6, 
%��GEFL56>7> < ?D>F<6>6O5D>E>6>7> >5>DG4>64=<O 

- 4=4?<7<D>64FL ?>>474=<O <4=><5FD4, GEF4=>6?5==>7> =4 GEFL5 E>646<= 

- 74>4G<64FL ?D><O6>G=GN 6<4>>EFL E <E?>?L7>64=<5< 
E?5F<4?<7<D>64==>= F5E=<>< 4> GEFLO E>646<=; 
-74FO7<64FL, >F>D5??OFL 74=>< 4?O GEF4=>6>< ?D565=F>D4; 
->D5?<FL ?D565=F>D L?<?L>4<< > >D5EF>6<=5 D>=F4==>= 4D<4FGDO;  
->F>D5??OFL ?D565=F>D ?D< ?D>6545=<< 45<>=F464 ?D>F<6>6O5D>E>6>7> 
>5>DG4>64=<O; 
->?D545?OFL E>>F65FEF6<5 ??4L5> 4<4<5FDG 4<EF4=F<>==>7> ?4FDG5>4 
74?>D=>= >><?>=>6><; 
- E>54<=OFL 6O><4=O5 FDG5>?D>6>4O E >?>D4<< ?D565=F>D4 FDG54<< E 
5OEFD>D47N5<=O<< E>54<=5=<O<<  
-?D<<5=5=OFL 74?>D=>-D57G?<DGNMGN 4D<4FGDG ?D< ?D>6545=<< 
7<4D><E?OF4=<= ?D565=F>D=>= GEF4=>6><;  
-6OO6?OFL 45D5>FO, ?D>?GE><, F5G< D?4=F56OE E>54<=5=<= 
?D>F<6>6O5D>E>6>7> >5>DG4>64=<O;  
-6=>E<FL D57G?LF4FO 7<4D46?<G5E><E <E?OF4=<= ?D>F<6>6O5D>E>6>7> 
>5>DG4>64=<O 6 4>F ?>E?5 ?D>6545=<O <>=F464 GEFL56>7> 
?D>F<6>6O5D>E>6>7> >5>DG4>64=<O E>646<= 

-6OO6?OFL =5<E?D46=>EF< 6 D45>F5 M?564F>D>6, LFD>?>6, 7<4D46?<G5E><E 
< <5E4=<G5E><E >?NG5=, >?<=>6>7> 74E64F4 ?>4N5<=>7> 47D574F4 ?5D54 
?D>6545=<5< E?GE>>-?>4N5<=OE >?5D4F<= =4 E>646<=4E 

- 6OO6?OFL ?>6D5645=<O =4DG6=>= ?>65DE=>EF< FDG5O, <GDFO < 
D57L5>6OE E>54<=5=<= =4E>E=>->><?D5EE>D=OE FDG5 ?5D54 ?D>6545=<5< 
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E?GE>>-?>4N5<=OE >?5D4F<= =4 E>646<=4E 

-?D><76>4<FL >4?<5D>6>G D57L5O =4E>E=>->><?D5EE>D=OE FDG5 ?5D54 
?D>6545=<5< E?GE>>-?>4N5<=OE >?5D4F<= =4 E>646<=4E ?>65D5==O<< 
>4?<5D4<< 

-?D<<5=OFL DGG=O5 < 46F><4F<G5E><5 >?NG< 4?O E6<=G<64=<O =4E>E=>-

>><?D5EE>D=OE FDG5 ?5D54 ?D>6545=<5< E?GE>>-?>4N5<=OE >?5D4F<= =4 
E>646<=4E 

-6OO6?OFL ?5D5>>EO, =54>6>D>FO, ?5D5FO6>G D57L5>6OE E>54<=5=<= 
=4E>E=>->><?D5EE>D=OE FDG5 ?5D54 ?D>6545=<5< E?GE>>-?>4N5<=OE 
>?5D4F<= =4 E>646<=4E; 
-6OO6?OFL ?>6D5645=<O D57L5>6OE E>54<=5=<= =4E>E=>->><?D5EE>D=OE 
FDG5 4> =4=5E5=<O D57L5>6>= E<47>< ?5D54 ?D>6545=<5< E?GE>>-

?>4N5<=OE >?5D4F<= =4 E>646<=4E 

<7<5DOFL 446?5=<5 =4 GEFL5 E>646<=O ?D< ?><>M< <4=><5FD4 ?D< 
4>?<65 6<4>>EF< 6 E>646<=G 6> 6D5<O ?D>6545=<O E?GE>>-?>4N5<=OE 
>?5D4F<= =4 E>646<=4E; 
->?D545?OFL ??>F=>EFL 6<4>>EF< 7?GL5=<O E>646<=O E ?><>MLN 
4D5><5FD4 ?D< 4>?<65 6<4>>EF< 6 E>646<=G ?5D54 ?D>6545=<5< E?GE>>-

?>4N5<=OE >?5D4F<= =4 E>646<=4E; 
->?D545?OFL =47DG7>G =4 >DN>5 ?D< ?><>M< <=4<>4F>D4 65E4 
M?5>FD>==>7> (44?55 - ��-) ?D< E?GE>5 < ?>4N5<5 >>?>==O =4E>E=>-

>><?D5EE>D=OE FDG5 6 ?D>F5EE5 E?GE>>-?>4N5<=OE >?5D4F<= =4 
E>646<=4E; 
-?D<<5=OFL F>?M<=><5D 4?O <7<5D5=<O F>?M<=O EF5=>< =4E>E=>-

>><?D5EE>D=OE FDG5 ?>E?5 ?D>6545=<O E?GE>>-?>4N5<=OE >?5D4F<= =4 
E>646<=4E; 
 -?>45<D4FL ?>6<?L=O= <=EFDG<5=F 

-G?D46?FL 7<4D46?<G5E><< <?< <5E4=<G5E><< >?NG>< < >?<=>6O< 
74E64F><;  
->?D545?OFL =47DG7>< =4 >DN>5;  
-?D<<5=OFL F5E=<G5E><5 GEFD>=EF64 4?O ?<>6<44F<< ?D<E64F>6 5GD>6>7> 
<=EFDG<5=F4; 
-<7<5DOFL 446?5=<5 6 >>?LF56>< < FDG5=>< ?D>EFD4=EF65 E>646<= ?D< 
?><>M< <4=><5FD4; 
- ?D<<5=OFL ���<� 4?O >?D545?5=<O ??>F=>EF< < GD>6=O 5GD>6>7> 
D4EF6>D4 6 E>646<=5; 
<E?>?L7>64FL E<EF5<O D44<>- <?< F5?5D>==>= E6O7<; 
-6OO6?OFL 45D5>FO =47=5F4F5?L=>= ?<=<<, ��� ?5D54 ?D>6545=<5< 
D5<>=F=>-<7>?OF<>==OE D45>F 6 E>646<=4E; 
-<>=F<D>64FL =47=5F4F5?L=O5 ?<=<< <7 FDG5 E 5OEFD>D47N5<=O<< 
E>54<=5=<O<< < L4D=<D=O<< >>?5=4<< (G7>?>4<<); 
->?D545?OFL =47DG7>< =4 >DN>5 ?D< ?><>M< ��-; 
->?D545?OFL ??>F=>EFL F4<?>=46=>7> D4EF6>D4 E ?><>MLN 4D5><5FD4; 
-D4EEG<FO64FL >5N5< F4<?>=46=>7> D4EF6>D4 4?O ?D>6545=<O D5<>=F=>-

<7>?OF<>==OE D45>F 6 E>646<=4E; 
-74>4G<64FL F4<?>=46=O= D4EF6>D 6 E>646<=O 4?O ?D>6545=<O D5<>=F=>-

<7>?OF<>==OE D45>F 6 E>646<=4E. 
�� 3  �5E?G6<64=<5 < M>E??G4F4F<O >5>DG4>64=<O 5GD>6OE GEF4=>6>> =4 =5DFL < 747. 
�<5FL 
?D4>F<G5E><= 
>?OF 

-?D>65D>< F5?>EF=>EF< >>6GE>6, >D5?56=OE < EF>?>D=OE 45F4?5= 
47D574F>6, E<EF5<, <5E4=<7<>6 5GD>6OE GEF4=>6>> M>E??G4F4F<>==>7> < 
7?G5>>>7> D47654>G=>7> 5GD5=<O =4 =5DFL < 747; 
->E<>FD4 5GD>6>7> >5>DG4>64=<O, 47D574F>6, FD4=E<<EE<=, 7<4D>- < 
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?=56<>E<EF5<, 6OL>< < 55 >E=>64=<O, F4?56>= E<EF5<O, 7DG7>74E64F=OE 
?D<E?>E>5?5=<=, <4DL56OE ?5EF=<F, 5?>><D>6>> =4 >FEGFEF6<5 
=5<E?D46=>EF5= < ?>6D5645=<=; 
-?D>6545=<O D45>F ?> F5E=<G5E>><G >5E?G6<64=<N 47D574F>6, E<EF5<, 
<5E4=<7<>6 5GD>6OE GEF4=>6>> M>E??G4F4F<>==>7> < 7?G5>>>7> 
D47654>G=>7> 5GD5=<O =4 =5DFL < 747 E>7?4E=> D57?4<5=F4<; 
-?D>6545=<O D5<>=F=OE D45>F 5GD>6>7> >5>DG4>64=<O ?D< 5GD5=<< 
=5DFO=OE < 747>6OE E>646<= 6 GE?>6<OE 5GD>6>= E>7?4E=> D57?4<5=FG; 
-6O?>?=5=<O D45>F ?> =46>D>FG =G?56>7> ?4FDG5>4, >>D?GE4 >>?>==>= 
7>?>6>< < 444?F5D=>7> D?4=F4, E5>D>4 5>>>6OE >F6>4>6 >>?>==>= 
7>?>6><; 
->56O7>< <4E?>?D>6>4>6 E<EF5<O 7<4D>G?D46?5=<O; 
-<>=F464 >5>DG4>64=<O <5E4=<G5E>>7> ?D<6>44 ?D565=F>D>6; 
-?D>65D>< >4G5EF64 <>=F464 6E5E M?5<5=F>6 >56O7>< 
?D>F<6>6O5D>E>6>7> >5>DG4>64=<O; 
->D>D<?5=<O F5E=>?>7<G5E>>= < F5E=<G5E>>= 4>>G<5=F4F<< ?> 
>5E?G6<64=<N < M>E??G4F4F<< 5GD>6>7> >5>DG4>64=<O. 

'<5=<O -6OO6?OFL 45D5>FO, =5<E?D46=>EF<, <5E4=<G5E><5 ?>6D5645=<O 
47D574F>6 < <E G7?>6, E<EF5<, <5E4=<7<>6 
5GD>6OE GEF4=>6>> M>E??G4F4F<>==>7> < 7?G5>>>7> D47654>G=>7> 
5GD5=<O =4 =5DFL < 747; 
-6OO6?OFL ?D<7=4>< <7=>E4 47D574F>6, E<EF5<, <5E4=<7<>6 
5GD>6OE GEF4=>6>> M>E??G4F4F<>==>7> < 7?G5>>>7> D47654>G=>7> 
5GD5=<O =4 =5DFL < 747; 
-?D<<5=OFL F5E=<G5E>GN 4>>G<5=F4F<N ?D< ?D>6545=<< F5E=<G5E>>7> 
>5E?G6<64=<O 47D574F>6, E<EF5<, <5E4=<7<>6 
5GD>6OE GEF4=>6>> M>E??G4F4F<>==>7> < 7?G5>>>7> D47654>G=>7> 
5GD5=<O =4 =5DFL < 747; 
-6O?>?=OFL G<EF>G, ?D><O6>G=O5 < E<47>G=O5 D45>FO, ?D>65D>G GD>6=O 
<4E5?, 4>?<6 < 74<5=G, 74<5=G D<?LFDGNM<E M?5<5=F>6 47D574F>6, 
E<EF5<, <5E4=<7<>6 5GD>6OE GEF4=>6>> M>E??G4F4F<>==>7> < 7?G5>>>7> 
D47654>G=>7> 5GD5=<O =4 =5DFL < 747; 
-?D<<5=OFL %�� < ED54EF64 >>??5>F<6=>= 74M<FO ?D< ?D>6545=<< 
F5E=<G5E>>7> >5E?G6<64=<O 47D574F>6, E<EF5<, <5E4=<7<>6 
5GD>6OE GEF4=>6>> M>E??G4F4F<>==>7> < 7?G5>>>7> D47654>G=>7> 
5GD5=<O =4 =5DFL < 747; 
-?D<<5=OFL <=EFDG>F<< 6 >5?4EF< >ED4=O FDG44, ?D><OL?5==>=, 
?>64D=>= < M>>?>7<G5E>>= 557>?4E=>EF<; 
-?D<<5=OFL F5E=<G5E>GN 4>>G<5=F4F<N ?> 6O?>?=5=<N D5<>=F=OE 
D45>F; 
-6O?>?=OFL 6<4O D5<>=F=OE D45>F 6 GE?>6<OE 5GD>6>= 4?O 
6>EEF4=>6?5=<O D45>F>E?>E>5=>EF< 5GD>6>7> >5>DG4>64=<O; 
-?D<<5=OFL %�� < >>??5>F<6=>= 74M<FO ?D< ?D>6545=<< D5<>=F=OE 
D45>F; 
->5>DG4>64FL >5E44=GN >>?>==G >>?>==>= 7>?>6>>=; 
-E>54<=OFL <4E?>?D>6>44<< E<EF5<G 7<4D>G?D46?5=<O E ?D565=F>D4<<; 
-E>54<=OFL ?D565=F>D=GN GEF4=>6>G E> LFGD64?4<< LFGD64?L=O<< 
FO74<<; 
-?D>6>4<FL 6<7G4?L=O= >E<>FD <5E4=<G5E>>7> ?D<6>44 ?D565=F>D>6, 
5?>>>6 4D>EE5?<D>64=<O < 7?GL5=<O =4 =4?<G<5 45D5>F>6; 
-D47D454FO64FL F5E=>?>7<G5E>GN 4>>G<5=F4F<N ?> >5E?G6<64=<N 
5GD>6>7> >5>DG4>64=<O; 
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-6=>E<FL 44==O5 ?> >5E?G6<64=<N < M>E??G4F4F<< 5GD>6>7> 
>5>DG4>64=<O 6 F5E=<G5E>GN 4>>G<5=F4F<N. 

�� 4 �D74=<74F<O D45>F ?> 5GD5=<N, >4?<F4?L=><G D5<>=FG =5DFO=OE < 747>6OE 
E>646<= 

�<5FL 
?D4>F<G5E><= 
>?OF 

- >55E?5G5=<O ?D>D<?4>F<>< < 557>?4E=>EF< GE?>6<= FDG44; 
- >D74=<74F<< D45>FO 5D<744O ?> 5GD5=<N E>646<=O 6 E>>F65FEF6<< E 
F5E=>?>7<G5E><<< D57?4<5=F4<<; 
- >D74=<74F<< D45>FO 5D<744O ?> 5GD5=<N E>646<=O 6 E>>F65FEF6<< E 
F5E=>?>7<G5E><<< D57?4<5=F4<< ?D< 6>7=<>=>65=<< =5LF4F=OE < 
464D<==OE E<FG4F<=; 
- 4=4?<74 ?D>F5EE>6 < D57G?LF4F>6 45OF5?L=>EF< >>??5>F<64 
<E?>?=<F5?5=; 
- >F5=>< MDD5>F<6=>EF< ?D><76>4EF65==>= 45OF5?L=>EF< 

'<5=<O - ?>?L7>64FLEO 4>FG4?L=>= =>D<4F<6=>-?D46>6>= 547>=;  
- 4=4?<7<D>64FL < EFDG>FGD<D>64FL ?D>5?5<O >D74=<74F<< 
?D><OL?5==>= 557>?4E=>EF<;  
- >?D545?OFL 464D<==GN E<FG4F<N, 
- D47D454FO64FL 45>?4D4F<N ?D><OL?5==>= 557>?4E=>EF< < ?D>6>4<FL 
5U M>E?5DF<7G; 
- D4EE?54>64FL ?D<G<=O 464D<= < <=F<45=F>6; 
- >F5=<64FL D<E> =4 >>=>D5F=>< >5N5>F5; 
- >D74=<7>6O64FL D45>FG >>??5>F<64; 
- GEF4=46?<64FL ?D><76>4EF65==O5 7444=<O <E?>?=<F5?O< 6 E>>F65FEF6<< 
E GF65D645==O<< ?D><76>4EF65==O<< ??4=4<< < 7D4D<>4<<; 
- >D>D<?OFL ?5D6<G=O5 4>>G<5=FO ?> GG5FG D45>G57> 6D5<5=<, 
6OD45>F><, 74D45>F=>= ??4FO, ?D>EF>56; 
- E>74464FL 5?47>?D<OF=O5 GE?>6<O FDG44, D4F<>=4?L=> <E?>?L7>64FL 
D45>G55 6D5<O; 
- D4EEG<FO64FL >E=>6=O5 F5E=<>>-M>>=><<G5E><5 ?>>474F5?< 
45OF5?L=>EF< >D74=<74F<< (?D><76>4EF65==>7> GG4EF>4); 
- ?>?L7>64FLEO ?D>EF5=L<<< ?D<5<4<< E4<>D57G?OF<< ?>6545=<O 6 
?D>F5EE5 <56?<G=>EF=>7> >5M5=<O 

 

 

2. $��'�,&�&/ �%�����/ �$������%&������ 

(�$�����������) �$��&���   
$57G?LF4F>< >E6>5=<O ?D>7D4<<O ?D><76>4EF65==>= 

(?D544<??><=>=) ?D4>F<>< O6?O5FEO ED>D<<D>64==>EFL G >5GG4NM<EEO 
>5M<E < ?D>D5EE<>=4?L=OE >><?5F5=F<= 6 D4<>4E <>4G?5= �� ?> >E=>6=O< 
6<44<  45OF5?L=>EF< (��): 
�� 1  �D>6545=<5 D45>F ?> M>E??G4F4F<>==><G < D47654>G=><G 5GD5=<N. 

�� 2  �D>6545=<5 D45>F ?> >4?<F4?L=><G D5<>=FG =5DFO=OE < 747>6OE 
E>646<=. 
�� 3 �5E?G6<64=<5 < M>E??G4F4F<O >5>DG4>64=<O 5GD>6OE GEF4=>6>> =4 
=5DFL < 747. 
�� 4 �D74=<74F<O D45>F ?> 5GD5=<N, >4?<F4?L=><G D5<>=FG =5DFO=OE < 
747>6OE E>646<=. 

 

2.1. �5D5G5=L >5M<E >><?5F5=F<= 
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�>4 �5M<5 >><?5F5=F<< 

�� 01. �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
?D<<5=<F5?L=> > D47?<G=O< >>=F5>EF4< 

�� 02. �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < <=F5D?D5F4F<< 
<=D>D<4F<< < <=D>D<4F<>==O5 F5E=>?>7<< 4?O 6O?>?=5=<O 7444G 
?D>D5EE<>=4?L=>= 45OF5?L=>EF< 

�� 03. �?4=<D>64FL < D54?<7>6O64FL E>5EF65==>5 ?D>D5EE<>=4?L=>5 < ?<G=>EF=>5 
D476<F<5, ?D54?D<=<<4F5?LE>GN 45OF5?L=>EFL 6 ?D>D5EE<>=4?L=>= ED5D5, 
<E?>?L7>64FL 7=4=<O ?> ?D46>6>= < D<=4=E>6>= 7D4<>F=>EF< 6 D47?<G=OE 
6<7=5==OE E<FG4F<OE 

�� 04. -DD5>F<6=> 674<<>45=EF6>64FL < D45>F4FL 6 >>??5>F<65 < >><4=45 
�� 05. �EGM5EF6?OFL GEF=GN < ?<EL<5==GN >><<G=<>4F<N =4 7>EG44DEF65==>< 

O7O>5 $>EE<=E>>= $545D4F<< E GG5F>< >E>55==>EF5= E>F<4?L=>7> < 
>G?LFGD=>7> >>=F5>EF4 

�� 06. �D>O6?OFL 7D4644=E>>-?4FD<>F<G5E>GN ?>7<F<N, 45<>=EFD<D>64FL 
>E>7=4==>5 ?>6545=<5 =4 >E=>65 FD44<F<>==OE D>EE<=E><E 4GE>6=>-

=D46EF65==OE F5==>EF5=, 6 F>< G<E?5 E GG5F>< 74D<>=<74F<< 
<56=4F<>=4?L=OE < <56D5?<7<>7=OE >F=>L5=<=, ?D<<5=OFL EF4=44DFO 
4=F<>>DDG?F<>==>7> ?>6545=<O 

�� 07. %>45=EF6>64FL E>ED4=5=<N >>DG64NM5= ED54O, D5EGDE>E55D565=<N, 
?D<<5=OFL 7=4=<O >5 <7<5=5=<< >?<<4F4, ?D<=F<?O 55D56?<6>7> 
?D><76>4EF64, MDD5>F<6=> 45=EF6>64FL 6 GD576OG4==OE E<FG4F<OE 

�� 08. �E?>?L7>64FL ED54EF64 D<7<G5E>>= >G?LFGDO 4?O E>ED4=5=<O < G>D5??5=<O 
74>D>6LO 6 ?D>F5EE5 ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < ?>445D64=<O 
=5>5E>4<<>7> GD>6=O D<7<G5E>>= ?>47>F>6?5==>EF<; 

�� 09. �>?L7>64FLEO ?D>D5EE<>=4?L=>= 4>>G<5=F4F<5= =4 7>EG44DEF65==>< < 
<=>EFD4==>< O7O>4E 

 

2.2. �5D5G5=L ?D>D5EE<>=4?L=OE >><?5F5=F<=  
 

�>4 �D>D5EE<>=4?L=O5 >><?5F5=F<< 

�� 1 �D>6545=<5 D45>F ?> M>E??G4F4F<>==><G < D47654>G=><G 5GD5=<N 

�� 1.1. �O?>?=OFL >><??5>E D45>F ?> ?>47>F>6>5 > 5GD5=<N < ?> >>>=G4=<< 5GD5=<O 
=5DFO=OE < 747>6OE E>646<= 

�� 1.2. �O?>?=OFL >><??5>E D45>F ?> 5GD5=<N, >D5??5=<N, <E?OF4=<N < >E6>5=<N 
=5DFO=OE < 747>6OE E>646<= 

�� 1.3. �EGM5EF6?OFL 75>=46<74F<>==>5 E>?D>6>645=<5 5GD5=<O =5DFO=OE < 747>6OE 
E>646<= 

�� 2 �D>6545=<5 D45>F ?> >4?<F4?L=><G D5<>=FG =5DFO=OE < 747>6OE 
E>646<= 

�� 2.1. �O?>?=OFL >><??5>E ?>47>F>6<F5?L=OE D45>F ?5D54 ?D>6545=<5< 
>4?<F4?L=>7> D5<>=F4 =5DFO=OE < 747>6OE E>646<= 

�� 2.2. �EGM5EF6?OFL 45<>=F46 < <>=F46 GEFL56>7> < ?D>F<6>6O5D>E>6>7> 
>5>DG4>64=<O 6 ?D>F5EE5 >4?<F4?L=>7> D5<>=F4 =5DFO=OE < 747>6OE E>646<= 

�� 2.3. �O?>?=OFL >><??5>E D45>F ?> >4?<F4?L=><G D5<>=FG =5DFO=OE < 747>6OE 
E>646<= 

�� 3 �5E?G6<64=<5 < M>E??G4F4F<O >5>DG4>64=<O 5GD>6OE GEF4=>6>> =4 =5DFL < 
747 

�� 3.1. �EGM5EF6?OFL >>=FD>?L D45>FO 47D574F>6, E<EF5<, <5E4=<7<>6 5GD>6OE 
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GEF4=>6>> M>E??G4F4F<>==>7> < 7?G5>>>7> D47654>G=>7> 5GD5=<O =4 =5DFL < 
747. 

�� 3.2. �D><76>4<FL F5E=<G5E>>5 >5E?G6<64=<5 47D574F>6, E<EF5<, <5E4=<7<>6 
5GD>6OE GEF4=>6>> M>E??G4F4F<>==>7> < 7?G5>>>7> D47654>G=>7> 5GD5=<O =4 
=5DFL < 747. 

�� 3.3. 'G4EF6>64FL 6 >><??5>E5 D45>F ?> D5<>=FG 5GD>6>7> >5>DG4>64=<O ?D< 
5GD5=<< =5DFO=OE < 747>6OE E>646<=. 

�� 3.4. �D>6>4<FL >><??5>E D45>F ?> <>=F46G (45<>=F46G) ?D>F<6>6O5D>E>6>7> 
>5>DG4>64=<O ?D< 5GD5=<< =5DFO=OE < 747>6OE E>646<=. 

�� 3.5. �D>D<?OFL F5E=>?>7<G5E>GN < F5E=<G5E>GN 4>>G<5=F4F<N ?> >5E?G6<64=<N 
< M>E??G4F4F<< 5GD>6>7> >5>DG4>64=<O. 

�� 4 �D74=<74F<O D45>F ?> 5GD5=<N, >4?<F4?L=><G D5<>=FG =5DFO=OE < 747>6OE 
E>646<= 

�� 4.1. �EGM5EF6?OFL >>=FD>?L 557>?4E=>EF< 6545=<O 5GD>6OE D45>F 6 E>>F65FEF6<< E 
?D46<?4<< 557>?4E=>EF<. 

�� 4.2. �EGM5EF6?OFL >>>D4<=4F<N < G?D46?5=<5 D45>F>= =4 5GD>6>= ??>M44>5 

�� 4.3. $G>>6>4<FL ?5DE>=4?>< ?D< 6>7=<>=>65=<< =5LF4F=OE < 464D<==OE E<FG4F<= 

�� 4.4. �>=FD>?<D>64FL < 4=4?<7<D>64FL ?D>F5EE < D57G?LF4FO 45OF5?L=>EF< 
?5DE>=4?4. 

2.3. $>D<>= >>=FD>?O ?D><76>4EF65==>= (?D544<??><=>=) ?D4>F<><   O6?O5FEO 
74GUF. 
 

2.4. �>?<G5EF6> G4E>6 =4 >E6>5=<5 ?D>7D4<<O ?D><76>4EF65==>= 
(?D544<??><=>=) ?D4>F<><  3 72 G4E4 

   

3. %&$'�&'$� � %���$����� �$������%&������ 
(�$�����������) �$��&���   

 

3.1. &5<4F<G5E><= ??4= ?D><76>4EF65==>= (?D544<??><=>=) ?D4>F<><     
�4<<5=>64=<5 D4745?>6 < F5< ?D4>F<>< �>?<G5EF6> G4E>6 

$4745? 1. �7=4>><?5=<5 E >5N5>F>< 

?D4>F<><, <=EFDG>F46 ?> F5E=<>< 
557>?4E=>EF< 

6 

$4745? 2. �7GG5=<5 D45>FO 654GM<E 
>F45?>6 ?D54?D<OF<O 

6 

$4745? 3. �7GG5=<5 D45>FO 547O 
?D><76>4EF65==>7> >5E?G6<64=<O 

6 

$4745? 4. $45>F4 5GD<?LM<>>< 36 

&5<4 4.1. �>47>F>6>4 5GD>6>= > 
745GD<64=<N E>646<=O 

12 

&5<4 4.2. �GD5=<5 E>646<= 6 

&5<4 4.3. �D5??5=<5 E>646<= 6 

&5<4 4.4. �E>DOF<5 ?D>4G>F<6=>7> ??4EF4 6 

&5<4 4.5. �E6>5=<5 (<E?OF4=<5) E>646<=O 
?>E?5 >>>=G4=<O 5GD5=<O (6 >>?>==5) 

6 

$4745? 5. �O?>?=5=<5 >5O74==>EF5= 
5GD>6>7> <4EF5D4 

6 
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$4745? 6. �D>D<?5=<5 < E<EF5<4F<74F<O 
<4F5D<4?>6, E>5D4==OE 6 ?5D<>4 ?D4>F<>< 

6 

�F>7>6>5 74=OF<5 6 

�E57> 72 
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3.2. %>45D64=<5 ?D><76>4EF65==>= (?D544<??><=>=)  ?D4>F<><   

 
�4<<5=>64=<5 D4745?>6 < F5< 
?D544<??><=>= ?D4>F<>< 

%>45D64=<5 GG55=>7> <4F5D<4?4  �5N5< G4E>6 $>D<<DG5<O5 
>><?5F5=F<< < 

?<G=>EF=O5 
D57G?LF4FO 

1 2 3 4 

�<4O D45>F: 

- ?D>6>4<FL 4=4?<7 D45>FO F>7> <?< <=>7> F5E4; 
- >D<5=F<D>64FLEO 6 4>>G<5=F4F<< ?D><76>4EF65==OE ?>4D4745?5=<= ?D54?D<OF<=; 
- <E?>?L7>64FL E<EF5<O >?5D4F<6=>7> >>=FD>?O >4G5EF64 EFD><F5?LEF64 E>646<=O; 
- <E?>?L7>64FL <5F>4<>G E>EF46?5=<O >FD45>F>< 4>?>F; 
- D4EL<DD>6O64FL >4DF>7D4<<O; 
- ?D><76>4<FL =5>5E>4<<O5 D4EG5FO =47DG7>>; 
- ?D><76>4<FL D45>FO ?> ?<>6<44F<< < D4EE?54>64=<N E4D4>F5D=OE 4?O EGM5EF6GNM57> D4=>=4 464D<=; 
- ?D><76>4<FL ?D>D<?4>F<G5E><5 D45>FO ?> ?D54G?D5645=<N 464D<=; 
- 6O?>?=OFL D45>FO 74 ?G?LF>< 5GD<?LM<>4 ?D< 5GD5=<< < E?GE>>-?>4N5<=OE >?5D4F<OE; 
- 65EF< 74?<EL 6 64EF>6>< 6GD=4?5; 
- ?D>6>4<FL ?GE>>6GN >>=D5D5=F<N ?5D54 =4G4?>< 5GD5=<O E>646<=O; 
- 6O?>?=OFL D45>FO ?D< 5GD5=<< ?>4 LGDD, ?>4 >>=4G>F>D; 
- G?D46?OFL ?D565=F>D=>= GEF4=>6>>=; 
- ?D<<5=OFL ?>DO4>> >?D5EE>6>< >>=4G>F>D4 E>646<=O; 
- 6O?>?=OFL D475GD<64=<5 F5<5=F=>7> EF4>4=4; 
- ?D><76>4<FL 747>F>6>G 7?<=<EF>7> D4EF6>D4, 57> E<<<G5E>GN >5D45>F>G, GFO65?5=<5 < >G<EF>G; 
- >EGM5EF6?OFL 745GD<64=<5 EF6>?4 E>646<=O E >F>?>=<F5?O<< ?>4 DG>>6>4EF6>< 5GD<?LM<>4; 
- 6<7<D>64FL <=EFDG<5=F ?D< 745>==>< >D<5=F<D>64=<<; 
- >EGM5EF6?OFL E?GE> <E?OF4F5?O ??4EF>6 =4 5GD<?L=OE FDG54E; 
- ?>47>F46?<64FL E>646<=G > ?D>6545=<N 75>D<7<G5E><E <EE?54>64=<=; 
- ?D><76>4<FL D45>FG ?> >5>DG4>64=<N GEFLO E>646<=O; 
- 6O?>?=OFL ?>47>F>6>G EF6>?4 E>646<=O > E?GE>G >5E44=>= >>?>==O < F5<5=F<D>64=<N; 
- 6O?>?=OFL D45>FO ?> ?>47>F>6>5 >5E44=OE FDG5 > E?GE>G 6 E>646<=G; 
- >EGM5EF6?OFL >>=FD>?L 74 >4G5EF6>< =46>D>F4 D57L5O; 
- >55E?5G<64FL 75D<5F<74F<N D57L5>6OE E>54<=5=<=; 
- >EGM5EF6?OFL E5>F<>==O= E?GE> >5E44=OE >>?>==; 
- >EGM5EF6?OFL EFG?5=G4F>5 F5<5=F<D>64=<5; 
- <E?>?L7>64FL <GDFO EFG?5=G4F>7> < <4=65F=>7> F5<5=F<D>64=<O; 
- ?D><76>4<FL >?D5EE>6>G E>646<=O (>>?>==O); 
- >?D545?OFL G<EF>FG >>??5>F>D4 ?D<745>==>= 7>=O ??4EF4 (���); 
- >F5=<64FL >4G5EF6> EFD><F5?LEF64 E>646<=O; 
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- ?D><76>4<FL 6O5>D F<?4 < ?4D4<5FD>6 5GD>6>7> D4EF6>D4; 
- E>5?N44FL F5E=>?>7<N F5<5=F<D>64=<O E F5?LN 74M<FO ?D>4G>F<6=>7> 7>D<7>=F4 >F 747DO7=5=<O; 
-  >EGM5EF6?OFL ?>4 DG>>6>4EF6>< 5GD<?LM<>4 D45>FO ?> >5>DG4>64=<N E>646<=O 4?O 6O7>64 ?D<F>>4 <7 ??4EF4; 
- >EGM5EF6?OFL ?>47>F>6>G GEFLO E>646<=O > ?5DD>D4F<< >>?>==O; 
- ?D<<5=OFL E?5F<4?L=O5 F5E=>?>7<G5E><5 6<4>>EF< 4?O 74?>?=5=<O >>?>==O ?5D54 ?5DD>D4F<5=; 
- ?D><76>4<FL 6O7>6 ?D<F>>4 6<4>>EF< <7 ??4EF4; 
- <E?>?L7>64FL >D<F5D<< >4G5EF64 D45>F ?> >E6>5=<N E>646<=; 
- >EGM5EF6?OFL DG>>6>4EF6> ?> ?D>6>4>5 E>646<=O; 
- >55E?5G<64FL ?D46<?L=GN < 557>?4E=GN M>E??G4F4F<N 5GD>6>7> <=EFDG<5=F4, >5>DG4>64=<O, <5E4=<7<>6 < >>=FD>?L=>-

<7<5D<F5?L=OE ?D<5>D>6; 
- >55E?5G<64FL 6=54D5=<5 6 ?D><76>4EF6> ?5D54>6>= F5E=>?>7<< ?D>6>4>< E>646<= < >?F<<4?L=OE D56<<>6 5GD5=<O; 
- >EGM5EF6?OFL ?D<5<>G 74>>=G5==OE D45>F; 
- 74?>?=OFL ?D><76>4EF65==GN 4>>G<5=F4F<N. 
$4745? 1. �7=4>><?5=<5 E >5N5>F>< 
?D4>F<><, <=EFDG>F46 ?> F5E=<>< 
557>?4E=>EF< 

 

. 

%>45D64=<5 6 �� 01. 3 �� 09. 
�� 1.1. 3 �� 1.3.  
�� 2.1. 3 �� 2.3. 
�� 3.1. 3 �� 3.5. 
�� 4.1. 3 �� 4.4. 

. 1. �D<5OF<5 =4 ?D><76>4EF6>. �D>D<?5=<5 =4 >5N5>F ?D4>F<><. &5?< < 7444G< 
?D4>F<><. �=D>D<4F<O DG>>6>4<F5?O ?D4>F<><, E?5F<4?<EF>6 ?D54?D<OF<O. 
�=EFDG>F46 ?> >ED4=5 FDG44.  $45>G<5 ??4=O < 7D4D<>< ?D>E>645=<O 
?D4>F<><. &5E=<G5E>4O >E=4M5==>EFL 5GD>6>7> ?D54?D<OF<O. �47O 
<4F5D<4?L=>7> E=4565=<O. M=5D75F<G5E><5 D5EGDEO D4=>=4 D45>F. &5?L 
EFD><F5?LEF64 E>646<=. �5DF5747>=>E=>EFL D4=>=4. �>=O 6>7<>6=OE 
>E?>6=5=<=. �5>?>7<G5E>>5 >5E?G6<64=<5 5GDOM<EEO E>646<=. �D74=<74F<O 
F5E=>?>7<G5E>>= E?G65O < G?D46?5=<O ?D54?D<OF<5<. 

$4745? 2.  �7GG5=<5 D45>FO 
654GM<E >F45?>6 ?D54?D<OF<O 

 

 

%>45D64=<5 6 �� 01. 3 �� 09. 
�� 1.1. 3 �� 1.3.  
�� 2.1. 3 �� 2.3. 
�� 3.1. 3 �� 3.5. 
�� 4.1. 3 �� 4.4. 

1. �>?>65=<5 >5 >F45?4E 5GD>6>7> ?D54?D<OF<O, <E DG=>F<<, 7444G<, EFDG>FGD4, 
?D><76>4EF65==O5 E6O7< <564G 5GD>6O<< ?>4D4745?5=<O<<. %>>5M5=<O 
=4G4?L=<>>6 >F45?>6. �5D5G5=L 4>>G<5=F4F<< ?> >F45?4< (F5E=<>>-

M>>=><<G5E><5 ?>>474F5?< < ??4= 5GD>6OE D45>F, ?D>5>F=>-E<5F=4O 
4>>G<5=F4F<O EFD><F5?LEF64 E>646<=). �7=4>><?5=<5 E 4>>G<5=F4F<5= 6 
>F45?4E 5GD>6>7> ?D54?D<OF<O. 

$4745? 3. �7GG5=<5 D45>FO 547O 
?D><76>4EF65==>7> >5E?G6<64=<O 

 

. 

%>45D64=<5 6 �� 01. 3 �� 09. 
�� 1.1. 3 �� 1.3.  
�� 2.1. 3 �� 2.3. 
�� 3.1. 3 �� 3.5. 
�� 4.1. 3 �� 4.4. 

 �>E5M5=<5 F5E>6, 547O ?D><76>4EF65==>7> >5E?G6<64=<O (���), 
>7=4>><?5=<5 E <E D45>F>=. �=D>D<4F<O DG>>6>4<F5?O ?D4>F<>< < 
E?5F<4?<EF>6 F5=FD4?L=>= F5E=>?>7<G5E>>= E?G65O < D4=>==>= <=65=5D=>-

F5E=>?>7<G5E>>= E?G65O. �>>G<5=F4F<O ?>4D4745?5=<=. 
$4745? 4. $45>F4 5GD<?LM<>><  36 �� 01. 3 �� 09. 

�� 1.1. 3 �� 1.3.  
�� 2.1. 3 �� 2.3. 
�� 3.1. 3 �� 3.5. 
�� 4.1. 3 �� 4.4. 

&5<4 4.1.  �>47>F>6>4 5GD>6>= > 
745GD<64=<N E>646<=O 

 

 

 %>45D64=<5 12 

1. �>47>F>6<F5?L=O5 D45>FO ?5D54 =4G4?>< 5GD5=<O E>646<=O. �>=F46 
5GD>6>7> >5>DG4>64=<O. �>47>F>6>4 5GD>6>7> <=EFDG<5=F4. �D46<?4 5GD5=<O 
?>4 LGDD, >>=4G>F>D. $45>FO ?> >55E?5G5=<N 65DF<>4?L=>EF< =4?D46?5=<O 
E>646<=O. �5>?>7>-F5E=<G5E><= =4DO4, D56<<=>-F5E=>?>7<G5E>4O >4DF4, 
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D57?4<5=FO. �5D>?D<OF<O ?> >ED4=5 >>DG64NM5= ED54O ?D< 5GD5=<< 
=5DFO=OE < 747>6OE E>646<=. 

&5<4 4.2. �GD5=<5 E>646<= 

 

. 

%>45D64=<5 (G>47O645FEO ?5D5G5=L 4<44>F<G5E><E 54<=<F) 6 �� 01. 3 �� 09. 
�� 1.1. 3 �� 1.3.  
�� 2.1. 3 �� 2.3. 
�� 3.1. 3 �� 3.5. 
�� 4.1. 3 �� 4.4. 

1. �>DO4>> >?D5EE>6>< >>=4G>F>D4 E>646<=O. &<?>D47<5DO 4>?>F, 5GD<?L=OE < 
>5E44=OE FDG5. ->E??G4F4F<O >5>DG4>64=<5 4?O ?D<7>F>6?5=<O < >G<EF>< 
5GD>6>7> D4EF6>D4. �>=FD>?L D45>FO 5GD>6>7> >5>DG4>64=<O.  �>DO4>> 
?D<7>F>6?5=<O, E<<<G5E>>= >5D45>F>< < GFO65?5=<O 5GD>6>7> D4EF6>D4. 
�>DO4>> ?D>6545=<O E?GE>>-?>4N5<=OE >?5D4F<= (%��). �5O74==>EF< 
65DE>6>7> D45>G57>. �>=FD>?L F5E=>?>7<G5E><E ?D>F5EE>6 5GD5=<O. 
�>=FD>?L=>-<7<5D<F5?L=O5 ?D<5>DO. &D55>64=<O ?>47>F>6>< E>646<=O > 
?D>6545=<N 75>D<7<G5E><E <EE?54>64=<=. �5F>4O 5GD5=<O =4>?>==>-

=4?D46?5==OE E>646<=. �GD5=<5 E >F>?>=<F5?O<<. �D<5=F<D>64=<5 
<=EFDG<5=F4 =4 745>5 E>646<=O. %>EF46?5=<5 >><?4=>6>< =<74 5GD<?L=>= 
>>?>==O 4?O 557>D<5=F<D>64==>7> 5GD5=<O. �>45>D 745>==>7> 46<74F5?O 4?O 
E>>F65FEF6GNM<E 4>?>F. �D46<?4 E?GE>4 <E?OF4F5?O ??4EF>6 =4 5GD<?L=OE 
FDG54E. �>47>F>6>4 <E?OF4F5?L=>7> >5>DG4>64=<O.  �5>?>7>-F5E=<G5E><= 
=4DO4, D56<<=>-F5E=>?>7<G5E>4O >4DF4, D57?4<5=FO. �5D>?D<OF<O ?> >ED4=5 
>>DG64NM5= ED54O ?D< 5GD5=<< =5DFO=OE < 747>6OE E>646<=. 

&5<4 4.3.  �D5??5=<5 E>646<=O 

 

. 

 %>45D64=<5 6 �� 01. 3 �� 09. 
�� 1.1. 3 �� 1.3.  
�� 2.1. 3 �� 2.3. 
�� 3.1. 3 �� 3.5. 
�� 4.1. 3 �� 4.4. 

1. �>47>F>6>4 EF6>?4 E>646<=O > E?GE>G >5E44=>= >>?>==O > E?GE>G < 
F5<5=F<D>64=<N. $57?4<5=F F5E=>?>7<< F5<5=F<D>64=<O >5E44=>= >>?>==O 
4?O ?>4N5<4 F5<5=F=>7> D4EF6>D4 74 >>?>==>= 6 GE?>6<OE ?>7?>M5=<O 
E>646<=O. �D46<?4 ?>47>F>6>< >5E44=OE >>?>== > E?GE>G 6 E>646<=G. 
�D46<?4 E?GE>4 >5E44=OE >>?>==. %?>E>5O F5<5=F<D>64=<O >5E44=OE >>?>==. 
�?D5EE>6>4 E>646<=O.  �5>?>7>-F5E=<G5E><= =4DO4, D56<<=>-F5E=>?>7<G5E>4O 
>4DF4, D57?4<5=FO. �5D>?D<OF<O ?> >ED4=5 >>DG64NM5= ED54O ?D< 5GD5=<< 
=5DFO=OE < 747>6OE E>646<=. 

&5<4 4.4. �E>DOF<5 ?D>4G>F<6=>7> 
??4EF4 

 

. 

 %>45D64=<5 6 �� 01. 3 �� 09. 
�� 1.1. 3 �� 1.3.  
�� 2.1. 3 �� 2.3. 
�� 3.1. 3 �� 3.5. 
�� 4.1. 3 �� 4.4. 

1. &<?O 5GD>6OE D4EF6>D>6 4?O 6E>DOF<O ?D>4G>F<6=OE ??4EF>6. &<?O 
>>??5>F>D>6. �O5>D F<?4 < ?4D4<5FD>6 5GD>6>7> D4EF6>D4 4?O 6E>DOF<O 
?D>4G>F<6=>7> 7>D<7>=F4. $4>F>DO 747DO7=5=<5 ?D<745>==>= 7>=O ??4EF4 ?D< 
57> 6E>DOF<< < F5<5=F<D>64=<< M>E??G4F4F<>==>= >>?>==O. �F5=>4 EF5?5=< 
747DO7=5=<O < >4G5EF64 EFD><F5?LEF64 E>646<=.  

&5<4 4.5. �E6>5=<5 (<E?OF4=<5) 
E>646<=O ?>E?5 >>>=G4=<O 5GD5=<O 
(6 >>?>==5) 
 

. 

 %>45D64=<5 6  

1. $45>FO ?> >5>DG4>64=<N GEFLO E>646<=O 4?O 6O7>64 ?D<F>>4 <7 ??4EF4. &<?O 
D>=F4==>= 4D<4FGDO, ?>DO4>> GEF4=>6>< 55 =4 GEFL5 E>646<=O. �D46<?4 
?>47>F>6>< GEFLO E>646<=O > ?5DD>D4F<< >>?>==O. &<?O F5E=>?>7<G5E><E 
6<4>>EF5= 4?O 74?>?=5=<O >>?>==O ?5D54 ?5DD>D4F<5=. �5DO 4?O 74M<FO 
??4EF4 >F 747DO7=5=<O. �5>?>7>-F5E=<G5E><= =4DO4, D56<<=>-F5E=>?>7<G5E>4O 
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>4DF4, D57?4<5=FO. �5D>?D<OF<O ?> >ED4=5 >>DG64NM5= ED54O ?D< 5GD5=<< 
=5DFO=OE < 747>6OE E>646<=. 

$4745? 5. �O?>?=5=<5 >5O74==>EF5= 
5GD>6>7> <4EF5D4 

 

. 

 %>45D64=<5 6 �� 01. 3 �� 09. 
�� 1.1. 3 �� 1.3.  
�� 2.1. 3 �� 2.3. 
�� 3.1. 3 �� 3.5. 
�� 4.1. 3 �� 4.4. 

1. �D<>47O, D4E?>DO65=<O < 4DG7<5 DG>>6>4OM<5 <4F5D<4?O, < 4>>G<5=FO 
?D><76>4EF65==>-E>7O=EF65==>= 45OF5?L=>EF< 5GD>6>= 5D<744O. &5E=>?>7<O 
5GD>6OE D45>F. &5E=<G5E><5 E4D4>F5D<EF<>< 5GD>6>7> >5>DG4>64=<O, 
<=EFDG<5=F4, ?D46<?4 <E M>E??G4F4F<< < D5<>=F4. �5D5G5=L ?D<G<=, 
6O7O64NM<E 75>?>7<G5E><5 < F5E=<G5E><5 >E?>6=5=<O, E?>E>5O <E 
?D54G?D5645=<O < ?<>6<44F<<. �D46<?4 >D>D<?5=<O D47?<G=>= 
4>>G<5=F4F<<, <5F>4<>4 F5E=<G5E>>7> =>D<<D>64=<O. �5=EF6GNM<5 
?>?>65=<O =4 ?D54?D<OF<< ?> >??4F5 FDG44, <4F5D<4?L=><G EF<<G?<D>64=<N, 
M>>=><<>5 < >D74=<74F<< ?D><76>4EF64, > FDG45 < G?D46?5=<<. �D46<?4 
>ED4=O FDG44 < F5E=<>< 557>?4E=>EF<, ?D><76>4EF65==>= E4=<F4D<<, 
?D>F<6>?>64D=>= 74M<FO. �>>G<5=FO ?> >ED4=5 =54D < >>DG64NM5= ED54O. 
���& $$. �O?>?=5=<5 E>>F65FEF6GNM<E DG=>F<= =4 D45>G5< <5EF5 < 
6O?>?=5=<5 6E5E D45>G<E >?5D4F<= ?D< EFD><F5?LEF65 E>646<=. 'G4EF<5 6 
6O?>?=5=<< 4>?6=>EF=OE >5O74==>EF5= 5GD>6>7> <4EF5D4 ?D< 5GD5=<<, 
>D5??5=<< < <E?OF4=<< E>646<= 

$4745? 6. �D>D<?5=<5 < 
E<EF5<4F<74F<O <4F5D<4?>6, 
E>5D4==OE 6 ?5D<>4 ?D4>F<>< 

. 

 

 %>45D64=<5 6 �� 01. 3 �� 09. 
�� 1.1. 3 �� 1.3.  
�� 2.1. 3 �� 2.3. 
�� 3.1. 3 �� 3.5. 
�� 4.1. 3 �� 4.4. 

1. �D>65D>4 E>5D4==>7> <4F5D<4?4 FD55>64=<O< 7444=<O, 6O44==>7> 
DG>>6>4<F5?5< >5D47>64F5?L=>7> GGD5645=<O. �D>D<?5=<5 <4F5D<4?4, 
?>47>F>6?5==>7> 6 ?5D<>4 ?D544<??><=>= ?D4>F<>< 

�F>7>6>5 74=OF<5 

. 

�D>D<?5=<5 >FG5F4 ?> D57G?LF4F4< ?D544<??><=>= ?D4>F<><. �>46545=<5 <F>7>6 
?D544<??><=>= ?D4>F<><. �4G5F. 

6 �� 01. 3 �� 09. 
�� 1.1. 3 �� 1.3.  
�� 2.1. 3 �� 2.3. 
�� 3.1. 3 �� 3.5. 
�� 4.1. 3 �� 4.4. 

�E57> 72  
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4. '%����/ $������&�� �$������%&������ 
(�$�����������)  �$��&���     

4.1. &D55>64=<O > <4F5D<4?L=>-F5E=<G5E>><G >55E?5G5=<N 

 $54?<74F<O ?D>7D4<<O ?D><76>4EF65==>= (?D544<??><=>=)    
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